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$%675$.

0DQJQJDOOR� $JQDWKD�� ������ $QDOLVLV� ,PSOHPHQWDVL� 3URJUDP� 6HNRODK�
$GLZL\DWD�7HUKDGDS�.DUDNWHU�3HGXOL�/LQJNXQJDQ�6VLVZD�GL�837�6'1���
0DNDOH�8WDUD��'LPELPELQJ�ROHK������6HIULQ�6��7DQJNHDUXQJ��6�3G��0�3G��
GDQ�����<XOLDQXV�0��5RPEHDOOR��6�+��0�+�

.DWD�NXQFL� ��$GLZL\DWD�� NDUDNWHU� SHGXOL� OLQJNXQJDQ�� LPSOHPHQWDVL� SURJUDP��
VHNRODK�GDVDU�

3URJUDP� $GLZL\DWD� PHUXSDNDQ� VDODK� VDWX� XSD\D� SHPHULQWDK� GDODP�
PHPEHQWXN�NDUDNWHU�SHGXOL� OLQJNXQJDQ�GL�NDODQJDQ�VLVZD�PHODOXL�SHQGLGLNDQ�
EHUEDVLV�OLQJNXQJDQ��3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQJDQDOLVLV�LPSOHPHQWDVL�
SURJUDP� $LZL\DWD� GL� 837� 6'1� �� 0DNDOH� 8WDUD� GDQ� GDPSDNQ\D� WHUKDGDS�
NDUDNWHU�SHGXOL� OLQJNXQJDQ�VLVZD��6HNRODK�LQL�GLSLOLK�VHEDJDL�REMHN�SHQHOLWLDQ�
NDUHQD� EHUKDVLO� PHUDLK� MXDUD� �� GDODP� DMDQJ� 6HNRODK� $GLZL\DWD� WLQJNDW�
.DEXSDWHQ�7DQD�7RUDMD�

3HQHOLWLDQ�LQL�PHQJJXQDNDQ�PHWRGH�NXDOLWDWLI�GHQJDQ�SHQGHNDWDQ�GHVNULSWLI��
'DWD�GLSHUROHK�PHODOXL�REVHUYDVL��ZDZDQFDUD�PHQGDODP�GHQJDQ�JXUX�GDQ�VLVZD��
VHUWD�GRNXPHQWDVL� SURJUDP�$GLZL\DWD� \DQJ� WHODK�GLWHUDSNDQ��+DVLO� SHQHOLWLDQ�
PHQXQMXNNDQ�EDKZD�LPSOHPHQWDVL�SURJUDP�$GLZL\DWD�GL�837�6'1���0DNDOH�
8WDUD� PHOLEDWNDQ� EHUEDJDL� NHJLDWDQ� VHSHUWL� SHPLODKDQ� VDPSDK�� SHQJKLMDXDQ��
VHUWD� LQWHJUDVL� SHQGLGLNDQ� OLQJNXQJDQ� GDODP� NXULNXOXP�� 6HODLQ� LWX�� DGDQ\D�
NHWHUOLEDWDQ� DNWLI� JXUX� GDQ� GXNXQJDQ� GDUL� SLKDN� VHNRODK� WXUXW� PHPSHUNXDW�
NHEHUKDVLODQ�SURJUDP�LQL�

'DPSDN� GDUL� LPSOHPHQWDVL� SURJUDP�$GLZL\DWD� WHUOLKDW� GDODP� SHUXEDKDQ�
SHULODNX�VLVZD�\DQJ�OHELK�SHGXOL�WHUKDGDS�OLQJNXQJDQ��VHSHUWL�NHELDVDDQ�PHQMDJD�
NHEHUVLKDQ�� KHPDW� HQHUJ\� GDQ� DNWLI� GDODP� NHJLDWDQ� SHQJKLMDXDQ�� 1DPXQ��
SHQHOLWLDQ�LQL�MXJD�PHQHPXNDQ�EHEHUDSD�WDQWDQJDQ�VHSHUWL�NXUDQJQ\D�NHVDGDUDQ�
VHEDJDLQ�VLVZD�GDQ�NHWHUEDWDVDQ�IDVLOLWDV�SHQGXNXQJ��2OHK�NDUHQD�LWX��GLSHUOXNDQ�
VWUDWHJL� NHEHUODQMXWDQ� SURJUDP� PHODOXL� SHODWLKDQ�� SHQLQJNDWDQ� VDUDQD� GDQ�
SUVDUDQD��VHUWD�NRODERUDVL�RUDQJ�WXD�GDQ�PDV\DUDNDW�



ǀŝŝ

.$7$�3(1*$17$5

3XML�GDQ�V\XNXU�NHSDGD�7XKDQ�<DQJ�0DKD�(VD�DWDV�NDVLK�GDQ�NDUXQLDQ\D��

VHKLQJJD�SHQXOLVDQ�VNULSVL�LQL�GDSDW�WHUVHODVDLNDQ�GHQJDQ�EDLN��6NULSVL�LQL�EHUMXGXO�

$QDOLVLV� ,PSOHPHQWDVL� 3URJUDP� 6HNRODK� $GLZL\DWD� 7HUKDGDS� .DUDNWHU� 3HGXOL�

/LQJNXQJDQ�6LVZD�GL�837�6'1���0DNDOH�8WDUD��6D\D�EHUKDUDS�VNULSVL�LQL�GDSDW�

PHPEHULNDQ�PDQIDDW�NHSDGD�SHPEDFD�XWDPDQ\D�NHSDGD�UHNDQ�UHNDQ�3*6'�GDODP�

PHQDPEDK�LOPX�SHQJHWDKXDQ�NKXVXVQ\D�GDODP�ELGDQJ�SHQGLGLNDQ�

'DODP�SHQ\XVXQDQ�GDQ�SHQXOLVDQ�VNULSVL�LQL�KLQJJD�VHOHVDLQ\D��VD\D�EDQ\DN�

PHQGDSDWNDQ�EDQWXDQ�GDUL�EHUEDJDL�SLKDN��2OHK�VHEDE�LWX�VD\D�PHQJXFDSNDQ�WHULPD�

NDVLK�NHSDGD��

�� .HGXD� RUDQJ WXD� VD\D� %DSDN� -RQL� %DWXSDGDQJ� GDQ� ,EX� $QDVWDVLD� 7DUXN�

0DVH¶� \DQJ� VHODPD� LQL� VHQDQWLDVD� PHPEHULNDQ� NDVLK� VD\DQJQ\D�VHUWD�

GXNXQJDQ� PRUDO� GDQ� PDWHUL�� DUDKDQ� GDQ� GRD� VHUWD� XVDKD� NHUDV� \DQJ�

GLODNXNDQ�GDODP�PHQGXNXQJ�NHEHUKDVLODQ�VHODPD�PHQHPSXK�SHQGLGLNDQ�

�� .DNDN� �:LGKD\DUWL� 7RGLQJ� 3��� GDQ� DGLN�DGLN� �$JQHVLD� 3DNL¶GDN� GDQ�

1RYLDQW\�0DQJQJDOOR��\DQJ�VHODOX�PHPEHULNDQ�PRWLYDVL��EDQWXDQ�PDWHUL�

GDQ�GXNXQJDQ�VHODPD�PDVD�SHQGLGLNDQ�

�� 3URI�� 'U�� 2NWDYLDQXV� 3DVRORUDQ�� 6�(��0�6L��$N��&$� VHODNX� UHNWRU�

8QLYHUVLWDV�.ULVWHQ�,QGRQHVLD�7RUDMD�

�� 'DXG�5RGL�3DOLPERQJ��6�3G��0�3G��VHODNX�'HNDQ�)DNXOWDV�.HJXUXDQ�GDQ�

,OPX�3HQGLGLNDQ�8QLYHUVLWDV�.ULVWHQ�,QGRQHVLD�7RUDMD�



ǀŝŝŝ

�� +DNSDQWULD�� 6�3G��� 0�3G� VHODNX� .HWXD� 3URJUDP� 6WXGL� 3HQGLGLNDQ� *XUX�

6HNRODK�'DVDU�8.,�7RUDMD�

�� 6HIULDQ� 6�� 7DQJNHDUXQJ�� 6�3G��0�3G� VHODNX� 'RVHQ� 3HQDVHKDW� $NDGHPLN�

VHNDOLJXV�VHEDJDL�3HPELPELQJ���\DQJ�WHODK�PHPEDQWX�GDODP�SHQJXUXVDQ�

.DUWX�5HQFDQD�6WXGL�GDUL�VHPHVWHU�,�VDPSDL�9,,�VHUWD�PHPEHULNDQ�PDVXNDQ�

WHUNDLW�GHQJDQ�SHQ\XVXQDQ�VNULSVL�LQL�

�� <XOLDQXV�0��5RPEHDOOR��6�+��0�+�VHODNX�GRVHQ�SHPELPELQJ���\DQJ�VHODOX�

PHOXDQJNDQ�ZDNWX�GDODP�PHPELPELQJ�SHQXOLVDQ�PXODL�GDUL�DZDO�SHQXOLVDQ�

VDPSDL�VHOHVDLQ\D�VNULSVL�LQL�

�� 6HOXUXK�VWDI�GRVHQ�3*6'�8.,�7RUDMD�\DQJ�WHODK�PHPEHULNDQ�SHQJHWDKXDQ�

GDQ� PRWLYDVL� VHODPD� SHQXOLVDQ� GDQ� PDVD� SHQGLGLNDQ� \DQJ� GLWHPSXK� GL�

EDQJNX�NXOLDK�

�� 6HJHQDS� 3HJDZDL� GDQ� 6WDI� 7DWD� 8VDKD� \DQJ� WHODK� PHPEDQWX� GDODP� KDO�

DGPLQLVWUDVL�

��� ,EX�(UODZDWL�%DNR��6�3G�VHODNX�NHSDOD�VHNRODK�837�6'1���0DNDOH�8WDUD�

\DQJ� WHODK� PHPEHULNDQ� ZDNWX� GDQ� NHVHPSDWDQ� NHSDGD� VD\D� XQWXN�

PHQJDGDNDQ�SHQHOLWLDQ�GL�VHNRODK�\DQJ�GLSLPSLQQ\D�

��� 6HPXD�JXUX�GL�837�6'1���0DNDOH�8WDUD�\DQJ�WHODK�PHPEHULNDQ�GXNXQJDQ�

GDQ�PRWLYDVL�GDODP�NHJLDWDQ�SHQHOLWLDQ�

��� 7HPDQ�WHPDQ�&���3*6'�WDQSD�WHUNHFXDOL�\DQJ�PHPEHULNDQ�GXNXQJDQ�GDQ�

PRWLYDVL�VHUWD�NHUMD�VDPD�VHODPD�SHQGLGLNDQ�

��� .HSDGD�VDXGDUD�<DSHQ�6DNNH�3DOORDQ�\DQJ�WHODK�PHQGXNXQJ�GDQ�PHQHPDL�

VD\D�VHODPD�SHUNXOLDKDQ�KLQJJD�VHOHVDL�
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6HPRJD�VHJDOD�EDQWXDQ�\DQJ�LNKODV�GDUL�EHUEDJDL�SLKDN�PHQGDSDW�EDODVDQ�

GDUL�7XKDQ�<DQJ�0DDKD�(VD��GDQ� MXJD� VD\D�PHQ\DGDUL�EDKZD�GDODP�VNULSVL� LQL�

PDVLK�EDQ\DN�NHNXUDQJDQ��ROHK�NDUHQD�LWX�NULWLN�GDQ�VDUDQ�VDQJDW�VD\D�KDUDSNDQ�

6HPRJD� VNULSVL� LQL� GDSDW� EHUPDQIDDW� XQWXN�PHQDPEDK�SHQJHWDKXDQ�EDJL�

NLWD�VHPXD��7XKDQ�<HVXV�PHPEHUNDWL�

0DNDOH������)HEDUXDUL�����

3HQXOLV�

$JQDWKD�0DQJQJDOOR
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